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Foreword

Since the passing of the Agriculture Act in 1947,
Government involvement in agricultural policy has
increased to a marked extent and inevitably, the
mechanisms of agricultural support have become pro-

gressively more complicated.

With the prospect of entry into the Common Market,

an understanding of the U.K. and E.E.C. agricultural
support systems becomes essential and in this booklet,
the operation of the two systems is discussed in a

series of questions and answers.

R. F. LORD

Head of Economics Department
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The Questions answered

A. The Problems of Agriculture

What is the present state of world agriculture?

How does the U.K. fit into this picture?

Why is the demand for food in the U.K. rising
only slowly?

What is the role of the U.K. government in

agriculture?
How is this role likely to change in the 1970s?

Why do governments involve themselves with

agriculture?

Why are agricultural prices so unstable when

governments do not intervene?

Why do farm incomes tend to fall behind other

incomes?

What methods can governments take to overcome

price fluctuations?

What methods have been made to overcome the

income problem?

Should the government encourage increasing

output at ‘all?

Should the government encourage increasing

productivity?

B. The Role of International Trade

Why not encourage agricultural production to

replace ALL U.K. food imports?

Why not go to the other extreme - rely entirely

on imports?
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of support?
What are the advantages?
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Why not introduce acreage quotas?
What is the answer?
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agriculture in the E.E.C. and that in the U.K.?
What do these differences mean for the E.E.C.?

What measures are being taken to improve the

structure?
What is F.E.0.G.A.?
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What is the Mansholt Plan?
What is being implemented?
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F. Appendices

The journey of one ton of wheat from a United
States farmer to a Scottish consumer (all

figures fictitious).
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G. Glossary

Price elasticity of demand

Income elasticity of demand

Commonwealth Preference
Customs Duty

Dumping

Dumping - U.K.

E.E.C.

E.F.T.A.

Excess production or surplus
G.A.T.T.

International Grains Agreement
International Sugar Agreement
Kennedy Round

Levy

Minimum import price

Quota

Tariff

Terms of Trade

Threshold price

UK/Argentina Agreement
UK/Danish Agreement

UK/Eire Agreement.

UK/New Zealand and UK/Australia Agreement

H. Sources for Information on the E.E.C.







A. The Problems of Agriculture

What is the present state of world agriculture?

As far as temperate agriculture is concerned, one of excess
production (see glossary). Surplus production of cereals in
North America emerged in the 1950s and was partly absorbed by the
hungry, 'Third World'. The development of high yielding cereals
and new techniques has now increased output in these poorer
countries and markets for North American cereals have contracted.
In the U.S.A. policies designed to limit acreage have failed to
eliminate the surpluses.

There has also been excess production of other commodities
such as dairy products, sugar and wool in North America, Europe

and Australasia.

How does the U.K. fit into this picture?

The U.K. is the largest market in the world for exported
temperate foodstuffs. It is also the only major free market
unimpeded by import levies or tariffs (see glossary). Many of
the U.K. food imports are subject to market-access agreements or
quota arrangements but these serve partly to protect exporting
countries from 'unfair' competition (see glossary - Dumping).

About a third of all U.K. food requirements and about a fifth of

U.K. temperate food requirements are imported. However, the

output of home agriculture is rising faster than home demand and
imports are gradually being replaced by home production. The
increasing output is a result of government support policies

(see Q.25, 26) and the cost price squeeze (see Q.8).

Why is the demand for food in the U.K. rising only slowly?
(a) Because people have a limited capacity for food and spend
higher incomes on other goods and services (see Q.8 and

glossary).

(b) Because population in the U.K. is increasing slowly (at about

0.7% per annum).




What is the role of the U.K. government in agriculture?

Since the 1947 Agriculture Act it has been to stabilise prices
(see Q.7, 9) to support farm incomes (see Q.8, 10) and to encourage
greater productivity (see Q.12). The methods used have been
deficiency payments, direct grants and trade agreements (see Q.25,

26).

How is this role likely to change in the 1970s?

The government is changing the manner of the support of agri-
culture. Direct payments to farmers are to be replaced by
higher market prices. The free importation of food will be re-
placed by levies on imports. This new U.K. system will dovetail
more smoothly with the present E.E.C. system than did the old.
(see Q.26).

Why do governments involve themselves with agriculture?
(a) Because by the very nature of the market for foodstuffs,
(see Q.7), prices would vary a great deal unless governments
stepped in. Such price variations would mean that farmers
were impoverished from time to time and also that the cost of
living for the rest of the country varied uncontrollably.
Food prices are too important to be left solely to the forces

of supply and demand.
(b) Because farm incomes tend to fall behind other incomes.
(see Q.8).

Why are agricultural prices so unstable when governments do not

intervene?

Production is carried out on a large number of small, inde-

pendent farms. The weather and disease makes farming risky and
- the output which farmers plan to produce may be quite different
from the output they actually achieve. The demand for food is
price inelastic (see glossary); more food can only be sold at
much. lower prices, whilst a short fall in supply causes a more
than proportional rise in price. Thus there is the irony that
in a free market, farm incomes are higher when there is a bad

harvest than when there is a glut. Prices may be made even more
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unstable by farmers trying to produce and sell more food when
prices are low in an attempt to increase their incomes. This of

course only drives prices lower and again total revenue falls.

Why do farm incomes tend to fall behind other incomes?

Because, when economic growth takes place, manufacturing and
service industry incomes always rise more rapidly than farm
incomes. The reason is that the income elasticity of the demand
for food is low (see glossary); increases in incomes lead to less
than proportionate increases in the demand for food.

Looking at the economy as a whole, a rise in income leads to a
less than equal rise in the demand for food and a more than equal
rise in the demand for consumer goods and services. Unless the
supply of food rises proportionately slowly and the supply of
other goods and services proportionately quickly, there will be
an excess supply of food and an excess demand for other goods.
Food prices will fall (or if there is inflation, stand still)
whilst the prices of goods and services with income elastic demand
- consumer durables, packaging - and so on - will rise.

The answer, of course, is for the supply of food to increase
slowly and in line with demand. This can occur in one of two
ways. Either the amount of land, labour and capital employed in
agriculture stays constant and productivity (output per resource)
increases slowly, or resources, leave agriculture and productivity
increases rapidly. If the former happens, food prices are
stabilised but because output per man increases relatively slowly,
so does income per man and the earnings gap remains. Only by

resources leaving at a rate that almost balances the rise in pro-

ductivity will both food prices and agricultural incomes maintain

their relative position.
The trouble is that if there is no income gap, there is precious
little reason for resources to leave agriculture! Thus the
income gap is never quite bridged.
The argument can be applied to imported food as well as to
home produced food. In the U.K. around 40% of all foodstuffs

consumed and about 207 of temperate foodstuff, are imported. So
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long as output per man in the food exporting countries increases
food supplies by more than rising incomes and rising population
increase the demand for food in the U.K., the price of imported
food will fall. Without government support this will reduce the
prices farmers receive and therefore their incomes.

In fact, non-agricultural prices constantly out-rise food
prices and this leads to the familiar 'cost-price' squeeze.
Interest rates, wages, factory raw materials, transport costs and
so on are determined in the economy as a whole and will, there-

fore, increase relative to food prices, reducing farm incomes.

What methods can governments take to overcome price fluctuations?
To overcome unstable markets, governments can guarantee

farmers certain prices and prevent excessively cheap imports up-

setting markets. Where there are no imports the government can
control acreage and livestock numbers through direct subsidies or
quotas. Such policies may involve the government in buying up

surpluses, carrying 'buffer stocks' from one year to another and
selling in times of shortage. Finally, by encouraging research
into disease, weather forecasting plus other services the govern-
ment can eliminate at least some of the causes of price fluctua-

tions.

What methods have been made to overcome the income problem?

Governments have two alternatives. Either they can prevent
excess supplies from coming onto the open market and driving the
prices that farmers receive down (as they do in the E.E.C.
through import restrictions and official buying up policies).
Alternatively they can let market prices fall, but hold up farm
incomes through direct subsidies (as they do in the U.K., though
as is explained below, the government puts limits on the extent
to which market prices are left to fall on their own).

" In the long run, neither strategy can solve the income problem
without other measures designed to take resources out of agri-

culture (see Q.12).




Should the government encourage increasing output at all?
Obviously if home supplies can displace imports either by
imports being made dear (E.E.C.) or by home producers being re-

imbursed by the government for lower market prices (U.K.) then
home production can be encouraged. Once self-sufficiency is
achieved, increased supplies must be limited to increases in the

demand for food.

. Should the government encourage increasing productivity?
Yes. Unless output per farm is increased, income per farm

cannot rise without a steadily rising exchequor subsidy. How-

ever, if the productivity of farms is to be increased but total

output is to rise less quickly, there can be only one result;
the number of farms must fall (see Q.8). Thus, although the
government should encourage greater productivity by aiding
investment, fertiliser subsidies and so on, it must also prevent
output rising too fast.

These policies designed to let some farmers obtain higher
incomes at the expense of other farmers who are squeezed out of
agriculture are often called Structural Policies. They include

grants for amalgamations and pensions for retiring farmers.

B. The Roleof International Trade

. Why not encourage agricultural production to replace all U.K.
food imports?

This would set the clock back to the days when international
trade was restricted in the 1930s. The major reason for the
economic boom in the world since 1945 has been the growth of
world trade; it has expanded in volume at a rate of 10% p.a.
Only through trade can nations specialise and achieve lower costs
and greater output, thus increasing real incomes.

If the U.K. limits imports then:-

(a) Industries in the U.K. that were based on cheap imports now
have higher costs and consumers have to pay more for less out-
put (e.g. consider livestock fattening based on cheap maize

imports; 1limit the imports and you limit the output).
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(b) The exporting country is no longer in a position to buy U.K.
exports. Although the direct effect may be small, the world
effect is to reduce the level of trade and therefore the level
of incomes in the importing and exporting countries (i.e.

incomes will be lower than they could have been with free trade).

. Why not go to the other extreme - rely entirely on imports?
Firstly, because of the need to keep the land in good 'heart'’
and a certain minimum level of production in case of political or
military threats to U.K. trade routes. Secondly, because the
U.K. relies greatly on trade, it has frequently been forced to
sacrifice economic growth and full employment in order to correct
the balance of payments. Therefore, some import-saving can be
justified, even if at the expense of economic efficiency.
Thirdly, the output of farming is more than the food produced;
the beauty of the countryside plus the educative and recreational
benefits which farming provide should all be weighed in the scales

when assessing the contribution of agriculture to the U.K.

. What will be the optimum balance between home produced food and
imports?

In theory this will depend on the relative productivity of
factorsof production in agriculture and industry in the U.K.
compared with countries overseas. In practice, social, politi-
cal and domestic economic pressures decide the final balance.

50 years ago the U.K. was 407 self-sufficient in food; now it is
607%. The U.K. government has encouraged the production of
cereals and beef relative to other commodities since 1968 and the
percentage produced at home looks like increasing as a consequence

(for cereals from 407%, for beef from about 80%).

How can agricultural support policies minimise the damage to
trade whilst providing sufficient home protection?
Obviously the deficiency payments system causes less harm to

trade than the import levy system. However, both restrict trade.

Any new support measures should be fully discussed with the main

exporting countries liable to be affected. This will allow them
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to prepare for the new measures and give them less desire and less
need to take retaliatory measures against U.K. exports.

Secondly, major suppliers can be recognised and given market
access agreements. Although importing countries want the
cheapest possible imports, they want regular supplies as well.
Occasionally countries with surplus production 'dump' supplies
abroad at very low prices (see glossary); such imports often do
more harm to domestic markets than their cheapness is worth.

Thus trade agreements benefit both importer and the consensus of

genuine exporting countries.

What international agreements govern U.K. food imports?

Firstly, there is the General Agreement on Tariffs and Trade
(G.A.T.T. - see glossary). Secondly, there is the Commonwealth
Preference Agreement (see glossary). Thirdly, there are bi-
lateral agreements between the U.K. and Eire, Denmark, Argentina,
New Zealand and Australia (see glossary). Fourthly, there are

commodity arrangements for the main imported foodstuffs:

a. Cereals: The U.K. has bilateral arrangements with about 20
'co-operating' countries. These countries agree to maintain
the prices of their imports above a certain minimum level

(e.g. £29.25 for wheat). This is further discussed below.

(See Q.27 and glossary - m.i.p.). The arrangements end in 1971.

Bacon: The Bacon Market Sharing Understanding is effective
until 1972. This guarantees a number of countries their share
of the import trade (notably Demmark but also Eire, Poland and

several other countries).

Butter: A similar'arrangement exists for butter, although
here each country is awarded a physical quota. New Zealand,
Denmark, Eire and Australia are the main suppliers - and each

has a bilateral agreement with the U.K.

Sugar: Under the Commonwealth Sugar Agreement, the U.K. buys
a set quota of about 1.6 million tons of white sugar from
Commonwealth producers at a relatively high guaranteed price

(the main countries involved are Australia, Fiji, Mauritius,
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Guyana and the West Indies). "~ The U.K. imports a -further 0.1
million tons at the world market price, partly from non-
Commonwealth -countries. ' Home -production ‘of sugar beet
supplies about'0.9 million tons of white sugar. - In the past
the world price level has been depressed by chronic sugar
surpluses. However, the International Sugar Agreement :(see
glossary) has resulted in substantial price rises on the world

market.

Beef: A bilateral agreement gives Argentina market access and

the right to notification of any changes. It is very much a

'gentleman's agreement’'.

What are the overall effects of these agreements7

It has been argued that they make U.K. patterns of trade
unnecessarlly rigid. Few of the countrles concerned buy as
much from the U.K. as the U K. buys from them in visible trade,
though it is difficult to calculate how the true balance lies
without know1ng the balance of 1nv151b1e trade (shlpp1ng, banking
and so on). The:argument against such an attempt to balance
trade bilaterally is: that it defeats  the whole object of multi-
lateral trade (see Q.13).- However, even if the advantage to
Britain in industrial exports is limited and of declining value,
it still makes sense for a country relying on large imports of
food to secure its sources of supply.

From the point of view of overseas suppliers these agreements
give them the opﬁortunity to invest and plan production rationally
without fear of dumped supplies cutting the ground from under
them. This ensures relatively low and stable market prices in
the U.K., partly through more efficient production by the over-
seas suppllers. ' '

Finally, some would argue that any measures which h1nder
imports and reduce food consumption are bad, since even industrial
countries have not reached the stage where gains from a reduction
in obesity among some people outweigh losses from an increase in

undernourishment among others.




C. Support Systems

What is the high market price + import levy system of support?
Internal market prices are held high. If the product is
imported, a levy or tariff pushes the import price up to the

fixed level and this maintains the market. If the product is

not imported there are two possibilities. Firstly, supplies are

bought up and sold abroad at a loss (i.e. dumped) or stored in
case of a future shortage or given away for social relief work -
or destroyed. By taking supplies off the market the price is
pushed up. The second alternative is to restrict supply by
acreage quotas to just that amount sufficient to keep prices at
the high level. The former policies are practised in the E.E.C.,

the latter in the U.S.A.

. What are the advantages?

Firstly, it can be operated simply. All the farmer has to do
is market his produce and the administration does the rest. Also
the returns from each enterprise are obvious to the farmer.
Secondly, it reduces the amount of taxation necessary (except where
money has to be paid out to dispose of surpluses). Thirdly,
dumping can be effectively prevented since the attention of the
system, when operated for imported products, focusses on import

prices.

What is the free market price + deficiency payment system?
Imported food is allowed to enter the market free of duty or
levy. Farmers are given a guaranteed price and if the market
price falls below this guaranteed level, a deficiency payment is
made. The system has been modified in the U.K. to limit the
extent to which market prices are allowed to fall (and therefore

deficiency payments are allowed to rise).

. What are the advantages?
Firstly, the cost of support is borne by taxpayers and there-
fore by the relatively rich (the poor pay little tax). If
consumers are made to pay for support, the poor, who spend a

large proportion of their income on food, will bear the main
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burden of agricultural support.
Secondly, the cost of support is calculated and published;

the degree of protection awarded to farmers and their efficiency

can then be assessed.

. What other price support systems are there?

Most developed countries operate schemes for increasing
investment and reducing labour employed in agriculture and many
are operating schemes for consolidating holdings, improving
marketing and so on. However, the countries of the E.E.C.%*,
E.F.T.A.*, and Eastern Europe as well as Japan and the U.S.A.,
couple such "structural support' measures with price support
measures. Only the U.K. operates a deficiency payments system;
all the others maintain market prices by acreage restrictions,
support buying, import tariffs or levies.

*# See glossary

D. The U.K. System

The U.K. imports all the main temperate foodstuffs in sub-
stantial quantities with the exception of potatoes, soft fruit
and a few livestock products. Even so, small quantities of
these products are also imported, often in a processed form.
The table opposite indicates the main pattern of temperate

food imports.




24. Which temperate foodstuffs does the U.K. import?

Approximate Estimated Main
A '000 Value Source of Imports
1969/70 imported tons £m see key (1)

Poultry - - - -

Pork - - - -

Eggs - - - -

Soft fruit - - - -

Potatoes 7 Cyprus

Beef & veal 16 Aust,Arg,Can,U.S.
2) 34 U.S.

Cheese 54 Can, Den, Eire, N.Z.
Wheat(3) 56 Aust, Can, U.S.
Mutton/lamb 58 N.Z.

Feed grains

Bacon 60 Den, + several others
Fruit/Veg. 60 Europe, S.A.

Sugar 66 70 Aust, W.I.

Butter 87 80 Den, Eire, N.Z.

(1) Aust Australia NZ New Zealand
Arg Argentina SA South Africa
Can Canada WL West Indies +

Den Denmark Mauritius, Fiji

Barley and oats from domestic agriculture; maize and

sorghum imported; wheat from both home and abroad.

(3) Soft wheat from domestic agriculture and Europe, hard

mainly from Canada and U.S.A.

. What briefly are the U.K. methbds of supporting agriculture?

Firstly, there are guaranteed prices and deficiency payments.
These operate for all products except fruit, vegetables, poultry
and,by 1974, eggs. On their own these are a good method of
income support. However, they do not answer the other two needs
- to increase the productivity of agriculture and to stabilise
market prices.

In order to increase productivity, there are a wide range of
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grants and subsidies for all manner of investment projects.
These were simplified into a system of standard grants in
December 1970. Other grants are paid on breeding ewes and beef
cows and on calves. These assure that support is spread over the
breeders and rearers as well as those farmers fattening and
selling livestock for meat. There is also a subsidy on
fertilizer.

To stabilise market prices there are two types of control

measures — those on production and those on imports.

Production controls:— There are acreage quotas on potatoes and sugar
beet and deficiency payments are linked to these.
- Standard quantities are imposed on milk and eggs and pigmeat
and if production goes above these quantities, the deficiency pay-
ment per unit of output is gradually reduced.
- There are floor prices which prevent exchequer expenditure
rising and attempt to stabilise prices by manipulating supple-
ments and abatements to the deficiency payments. They are called
target indicator prices (cereals and beef) and estimated market
prices (sheep).

Thus, the only products without such controls are poultry and

fruit and vegetables.

Import controls:-  Quotas are imposed on butter and bacon.
- Tariffs are imposed on poultry meat,mutton and lamb and fruit
and vegetables.

- Minimum import prices are set for cereals, beef and eggs.

How are these methods changing?

Firstly, there has been a shift in importance from deficiency
payments to grants. Production and improvement grants are a
more specific way of injecting money into agriculture than
deficiency payments. In the late 1950s around two thirds of the

government subsidy was in the form of deficiency payments; by

the late 1960s the proportion was less than half and the 1970/71

forecast shows deficiency payments constituting under 40% of the

total subsidy. Some of the grants have been aimed at encouraging




co-operation, farm amalgamation and better accounting practices.
However, none of them have been designed to reduce output (see Q58).

Secondly, and more recently, there have been the first moves
designed to eliminate deficiency payments altogether. ' The new
support measures will be import controls and higher market prices.
Interim Schemes have been introduced for cereals (see Q.27), beef
(see Q.28) and mutton and lamb (see Q.29). Full systems are
expected to be introduced in 1973-75.

. What is the U.K. system for Cereal support?
(a) Guaranteed price and deficiency payment

The guaranteed price is the price that the government
guarantees farmers will on average receive. The difference
between this and the average market price is the deficiency
payment. One guaranteed price is set for wheat, barley and
oats, expressed on a per ton basis. This is converted into a
per acre figure and paid on acreage grown, not tonnage sold.
Obviously the deficiency payment can only be worked out at the

end of the year. In fact, the system works as follows:-

1971‘March = Guaranteed price announced for wheat, barley and

oats for 1971/72. These are £32.6 per ton for wheat, £29.0

per ton for barley and £28.8 per ton for oats.

1971 March - Farmer sows farley.

May/June - Sends claim form to D.A.F.S. giving acreage sown.

July/Aug. - D.A.F.S. inspectors check on claims.

Aug/Sept. - Harvests grain. Sends declaration form to D.A.F.S.
saying how many acres have been harvested. He then disposes
of the grain as he wishes.

December - D.A.F.S. estimates what the average price is likely to
be on the market and then according to the acreage the farmer
declared ,he receives an advance Deficiency Payment per acre.
This is usually made to be around 66% of the final total

payment.

1972 September - The average market price for the preceeding year
can now be calculated from the Corn Returnms. These are the

- records of every purchase of grain by Registered grain merchants.
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Thus an average per ton price is calculated.

However, many farmers will not have sold their grain off
the farm. Thus the per ton figure is made into a.per acre
figure by estimating the average yield of this and the previous
two years' harvests and taking a weighted .average of the three.

Now every farmer is paid this deficiency payment, less the
advance payment received in December 1971: 1in other words it
is a balancing payment (if the D.A.F.S. under estimated average
market price in December, the advance payment will have been
too much and so the September 1972 payment will be that much

smaller).

(b) Target indicator prices (t.i.p.)

This is a low price level which marks the limit of the
deficiency payment that will be payed. If prices fell drama-
tically, the average market price might be far lower than the
government estimated and the deficiency payment bill much

greater (in the extreme case, so much greater that extra taxes

might be required to meet the bill!). Hence the t.i.p. For

1971/72 it is £21.775 per ton. This means that the maximum
barley deficiency payment possible for 1971/72 is £29 - £21.775
= £6.225 per ton (around £10.0 per acre).

(c) Minimum import prices (m.i.p.)

For each quality of the various grains imported (soft and
hard wheats, maize, sorghum and smaller quantities of barley)
an m.i.p. is fixed. The government watches the level of
prices of grain delivered to the main grain ports (Avonmouth,
Liverpool, Glasgow). If grain from some regular source (i.e.
not dumped grain; this is dealt with separately) is offered
at a price below the m.i.p. level, a levy is imposed on this
and all imports of this type of grain. For instance, the
m.i.p. level set for summer 1971 for barley is £23.55 per ton.
If, say Swedish barley is offered at £22 per ton, then a
current levy is imposed of £1.55 per ton on all barley offered,
no matter what its price,with the exception explained below.

Such a levy obviously could make importing grain a highly
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risky business. Since all grain is bought on forward contract
months before it is shipped to the U.K. Someone buying French
barley say, at £24 per ton and taking delivery at the same time
as the Swedish shipment arrived would be costing the importer
£25.55 per ton all told - an unforeseeable extra cost.

To overcome this difficulty the government publishes a list
of prospective levies, based on their estimate of what delivered
import prices will be in the future. Say they did not foresee
the Swedish shipment and estimated two months previously a
price of £23.75 per ton. Thus the prospective levy would have
been nil and the importer of French barley could have registered
his contract, paid the £0.25 per ton registration fee (to dis-—
courage speculators registering contracts that they do not
eventually import) and bought the grain knowing his exact
costs = £24 per ton plus £0.25 per ton plus shipping costs.

In order to see how grain is bought forward and what
effect the prospective levy has, an example is shown in
Appendix I, using hypothetical figures.

Finally, the m.i.p.s are stepped; they rise by £0.30 per
ton per month through the season from September onwards. This
provides the price protection necessary to allow on-farm

storage and replaces the old Barley Incentive Storage Scheme

and the old rising standard prices for wheat.

(d) Threshold Price

Unlike the other three prices, this is one for the future.

The term 'minimum import price' is used to focus attention on
the minimum aspect. M.i.p.s supposed to be linked to world
costs of production and freight charges. They represent what
the importing country estimates to be the lowest economic price.
Imports offered at a lower price must therefore be uneconomic
and subsidised. Hence the rationale for imposing levies to
bring them up to the m.i.p. level. However, the U.K. m.i.p.s
for grain are to be pushed steadily higher until by 1973 they
should be sufficiently high to push market prices up to the

level of the guaranteed price. Thus deficiency payments will
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be nil and the market will provide all the farmers return.

As far as the terminology goes, though, the m.i.p.s will no
longer be minimum prices linked to world costs,- but high prices
linked to U.K. costs. They will have become, to use an E.E.C.
term, threshold ﬁrices. Although, the government may still

call them m.i.p.s — in reality they will be something else!

- What difference will this make to U.K. farmers?

Other things being equal, the new system will be simpler
and more convenient for the farmer. However, it relies on
continuing imports of grain. The U.K. imports little barley
and a contracting amount of soft wheat. Thus the 'threshold’
prices for maize and sorghum will have to support barley and
oat prices whilst the 'threshold' price for hard wheat may
eventually have to support the domestic soft wheat price.
Obviously the extent to which this is feasible depends on the
extent to which the various grains can substitute for one
another. If maize is preferred to barley for some uses then
despite a high maize price the barley price may drift down.
Thus, if deficiency payments have been abolished, farmers

returns will similarly fall.

Fall-back guarantees

The government has said it will introduce fall-back
guarantees when the m.i.p.s have risen high enough to push
market prices up and eliminate deficiency payments.

If market prices fall below the m.i.p. level, then a
deficiency payment will be made to bring earnings up to the
m.i.p. level. This would dispel the danger of falling
returns mentioned above. It could however, frustrate the
attempt to make the farmer reliant on the market for his

return.

28. What is the U.K. system for Fat Cattle support?

(a) Guaranteed price, standard price and deficiency payment

The guaranteed price is set and a deficiency payment paid
according to the gap between this and the average national market

price. Since Scottish market prices are consistently higher
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than English prices, the Scots producer will generally get more
than the guaranteed price (with sheep, the opposite applies).

If a flat rate guaranteed price were offered throughout the
year, there would be no incentive to avoid marketing when market
prices are low in the Autumn and the government's deficiency pay-
ments would be large, as well as market prices being unstable.

To rectify this the guaranteed price is split into 52 weekly
Standard prices. These are highest in the winter and spring,
lowest in Autumn and they provide the necessary incentive to
market fat cattle at other times of the .year. A further compli-
cation is introduced to give stability to market supplies. The
government sets the Standard prices with the aim of keeping the
deficiency payment to between £0.90 and £1.20 per cwt liveweight.
Thus they estimate an Autumn market price of, say £11.00 per cwt
and so set a Standard price of from £11.90 to £12.20 for those
months (the exact figure will be calculated so that all the
standard prices, when averaged will equal the guaranteed price).

Now if market prices rise above this level (i.e. move closer to
the standard price) a scale of supplementary payments are made,
giving the farmer a return above the Standard. This encourages
supplies and hopefully checks the rising price (once prices rise

£0.225 above the Standard, no more supplement is given, so all the

return is from the market; this has been the case in 1971 with a

world shortage of beef pushing up prices). Similarly, if the
price falls below this £0.90 to £1.20 band and the deficiency pay-
ment gap widens, there is a scale of abatements. Farmers returns
are less than the Standard price. Thus, if the average market
price for the week November 1-7 1971 is £9.77 per cwt, then this
is £1.95 below the published Standard price of £11.72 per cwt for
that week. The full deficiency payment of £1.95 is abated by
£0.20 and the farmer only receives £9.77 from the market plus
£1.70 deficiency payment. This is designed to encourage farmers
to keep animals off the market when prices are falling.

The deficiency payment is given in two parts as with cereals.
The government, in estimating market prices (for setting the

Standard prices at the beginning of the year) also estimated beef
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supplies and therefore allocated certain Treasury funds for making
deficiency payments. Part of the deficiency payment is paid to

the farmer immediately after he sells his beasts and has them

certificated and the paper work sent to the D.A.F.S. The rest is

held until the end of the year.

At the end of the year (i.e. the following Spring), the actual
average prices and cattle numbers sold can be calculated. If
the government estimated wrongly so that the weighted average
market price turns out lower than they bargained for, the'end-of-
year' deficiency payment has to be spread over more farmers and
is lower (in other words, farmers are not in fact getting the
guaranteed price overall, merely all the Ministry funds). On
the other hand, if prices have been higher than expected, the
end-of-year deficiency payment will be larger and farmers will in
fact be doing better than the guaranteed price overall. What
happens when the market price is over the Standard price is more
difficult to judge. However, no end-of-year payment can be

expected if no deficiency existed for the week of sale.

Target indicator price (t.i.p.)

The t.i.p. is set at a constant £2.00 per cwt below the Standard
price and so they vary week by week together. It has two

functions:

1. As with cereals, it is a floor to the market. If market
prices fall more than £2.00 below the Standard price for the
week, the total deficiency payment stays at £1.70 per cwt.
Thus if prices fall below this t.i.p. level, there is even
more reason for farmers to hold fatstock off the market. In
the Spring, the end-of-year payment is limited to the (guaran-—
teed price less average t.i.p.) gap if market prices have

averaged less than the t.i.p. level.

. Unlike cereals, the t.i.p. serves as a minimum import price as
well. If market prices fall below the t.i.p. level then an
import levy is announced on Friday afternoon to apply to all

beef imports delivered the following week. This levy will
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bridge the gap between average market price and t.i.p. (in the
same manner as the levy bridging the gap of lowest import price

and m.i.p. for cereals).

This different system is used because most imported beef comes

in chilled or frozen. Thus it moves into cold store and pays
whatever levy is operating when it is released from store onto the
market. The actual levies are worked out by using coefficients
to convert from the imported carcasses to the domestic liveweight
basis (e.g. the price of frozen carcasses and sides will be multi-
plied by 1.39 to put them on a liveweight basis).

Eire Most of the trade from Eire consists of store cattle
exported for fattening in the U.K. Only about 77 of total beef
and veal supplies comes from Eire. The Eirean governmment pays a
subsidy to exporters of beef to the U.K. that is designed to
equalise up the price that local fatteners and abbatoirs can
afford to pay in line with British prices (and therefore fatten
some stock in Eire rather than rely entirely on store exports).
When the U.K. deficiency payment is stuck at the t.i.p. the
Eirean export subsidy is also levelled off to keep returns to

fatteners and the meat industry in the two countries balanced.

Threshold Prices

The t.i.p. will steadily be raised, in the manner of the
cereal m.i.p.s. Thus in 3 years time market prices will be held
up to guaranteed levels and deficiency payments will have dis-
appeared. Again, the t.i.p. should then be termed a threshold

price to keep terminology in line with the E.E.C.

Other support measures

Production grants are particularly important to the production
of fat cattle. Firstly, subsidies of £9 per heifer calf and
£11.25 per steer calf are paid on 8 month old calves of a beef
breed and on any calves reared and slaughtered as fat cattle.
(Thus the subsidy may go to the breeder or to the fattener).
Secondly, a subsidy is paid on beef breeding cows; for ‘lowland

herds the rate is £11 but beef cows kept on the hills are paid
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29.

£18.75 subsidy plus a £5 winter keep grant, a grand total of
£23.75. Thirdly, a grant of £5 per cow is paid for brucellosis-
free beef cows.

These grants mean that the guaranteed price for beef-understates

the actual money beef producers receive by up to £3 per live cwt.

What is the U.K. system for sheep and lamb support?

(a) Market Support

The system is on the same lines as that for beef. However,
there is a changed ' mix of supplements and abatements to the
deficiency payment as from 1971. Also, instead of a low t.i.p.
that is to be steadily moved up, as for beef, there is a much

higher price established called the estimated market price (e.m.p.).

So long as the weekly average market price is above the e.m.p.
level, the full deficiency payment is paid. If the average
market price falls more than 1.5p per 1b e.d.c.w. below the e.m.p.

then the deficiency payment is abated.

By the time the market price is 3.0p below the e.m.p., the

deficiency payment has been abated by 1.5p per 1b e.d.c.w. and no
matter how far prices fall, this is the maximum abatement (i.e.
the deficiency payment will be the gap between standard and
average market, less up to 1.5p if the average market is below
the e.m.p.).

This is limited in one respect. Again, like beef, only some
of the deficiency payment is paid at once and the end-of-year
payment is the balancing item. Should market prices average
less than the e.m.p. then the deficiency payment is made
according to the guaranteed price minus the e.m.p.

Thus, the support system for sheep is closer to the final beef
system, with deficiency payments eliminated thfough a high e.m.p.
Market prices are maintained at around the e.m.p. level by a
tariff. This is a specific tariff rising from £9.3 per ton
(i.e. about 3%Z) in July 1971 to £18.7 per ton (about 6%) in
January 1972 to a final total of £28.0 per ton (about 8%) in

July 1972.
- How will this affect the U.K. farmer?

-20-




The tariff should raise New Zealand prices by up to lp per 1lb
in 1971 and 1.3p per 1b in 1972.

Production Grants

A grant of £0.95 to £1.50 per ewe kept on the hills is paid

along with £0.15 winter keep supplement.

. How is dairying supported?
Milk production requires an efficient system of daily milk
collection and distribution and a system that can pay farmers
on a regular monthly basis. The U.K. aims to achieve this with
Milk Marketing Boards. There are 5 covering the U.K. - England
and Wales, Aberdeen and District, Scottish, Ndrth of Scotland and

Northern Ireland.

(a) Guaranteed price, effective price and average pool price

The government sets a guaranteed price for milk every year.

This is based on a standard quantity of milk for the U.K.
which is in turn related to liquid milk consumption. Each
Board is awarded its own guaranteed price (the 5 prices average
out to the U.K. level) and a share of the U.K. standard
quantity. So long as milk production in a Board's area does
not exceed the standard quantity for the area, the full
guaranteed price will apply.

The Boards collect milk from dairy farms and sell as much
as possible on the liquid market for about 23p per gallon.
The remainder is sold to butter and cheese makers for 8-9p per

gallon. Each Board then calculates an average pool price,

representing the average return per gallon sold (if most were
sold liquid the average pool price would be high, and vice
versa if not). If the average pool price is below the
guarantee price, the government pays a deficiency payment to
the Board in question, through a Milk Fund. Thus the Board
will be able to pay farmers the full guaranteed price per
gallon, less administrative and distributive costs.

However, milk production has exceeded the standard quantity

in every year and in every Board area since the inception of
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the Scheme in 1954. As a result the effective price guaranteed

to farmers is always less than the actual guaranteed price (by
1p to 4p per gallon normally). For instance, if a Board has
a guaranteed price of 20p per gallon and a Standard quantity
of 100 mill. gallons, but produces 120 mill. gallons, the
effective guaranteed price in the area is only 20 x 100 + 120
= 16.7p per gallon.

The England and Wales Board accounts for over 807 of milk
production and sells 667 on the liquid market. This relatively
high percentage means that the average pool price is invariably
higher than this Board's effective price. The surplus revenue
earned above the effective price is paid into the Milk Fund.

In contrast, the other Boards sell only about 55% of their
milk to the liquid market and invariably have average pool
prices lower than their effective prices. These Boards draw
the deficiency from the Milk Fund.

The government tries to set guaranteed prices and standard
quantities as well as the retail price of milk such that these
payments and withdrawals balance out, leaving no overall
deficiency payment from the government, nor revenue to the
government. In fact, there is always some balancing required.
In 1969/70 the government drew out £7 million as a result of
England and Wales paying in £17 million surplus revenue and
the other Boards drawing out only £10 million. In contrast,
-the government paid £7 million in 1966/67 when England and
Wales paid only £1 million surplus whilst the other Boards

drew £8 million to cover their deficiencies.

(b) Subsidies

The average pool prices contain a number of implicit

subsidies. Firstly, dairy farmers in areas remote from the
main liquid markets and therefore producing milk for butter
and cheese are being subsidised by farmers producing milk for
liquid consumption. Secondly, although farmers are charged
for haulage, these charges do not cover the whole cost of

haulage for farms a long way from the market. Thirdly, prices
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paid to producers are varied seasonally (up to 3p per gallon
higher in the winter) to allow for variations in costs of
production, particularly the cost of feedingstuff. However,
consumers pay the same price throughout the year. Thus,

summer consumers of milk subsidise winter consumers.

(c) Import Controls

No liquid milk is imported. Butter imports are controlled
by a butter quota (see Q.17) and in 1971 minimum import prices
were introduced for dairy products other than butter and
cheese. The m.i.p.s are termed an 'interim' arrangement
before a full levy system is established. Such a system will

probably replace standard quantities and guaranteed prices.

How is pigmeat supported?

There is a guaranteed price and deficiency payment to support
incomes and a market sharing understanding for limiting imports.
The guaranteed price is linked to output and feed costs.

The guaranteed price is announced linked to a certain produc-

tion of pig carcases, called the 'middle band'. For 1971/72

this is 13,350,000 - 14,750,000 pig carcases (a range of b 27

around the mid-point).

Every 3 months the government makes an estimate of likely
'certifications' aver the coming quarter. The 'middle band' is
divided into seasonal amounts and if the estimate is above the
seasonal 'middle band' allowance, the guaranteed price is
reduced on a sliding scale.

For 1971/72 the guaranteed price is £2.93 per score. If
estimated certifications exceed the top of the 'middle band' by
5%, the guaranteed price rises by around 5%.

Feed costs are taken into account through a feed formula,
again reviewed every 3 months.

If the "cost-of-feed" index rises by .61% (i.e. around 1.33p
per cwt) then the guarantee price falls by lp per score (i.e.
around 0.337).

Imports are limited by the 1963 Bacon Market Sharing Under-
standing. The U.K. decides what proportion of the U.K. market
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will be supplied from abroad and then allocates bacon quotas to
Sweden, Denmark, Eire, Holland, Hungary, Yugoslavia and Rumania.
Very little pork is imported and when surpluses of pork arise,
they are channelled into the bacon market and the quotas sub-

sequently reduced. However, the sliding scale guaranteed price

prevents any long term erosion of overseas suppliers' market

shares.

In return for their quotas, the 8 countries agree to market
their supplies in an orderly and timely fashion.

Finally tariffs of 107 are imposed on imports from all

countries except Eire and the Commonwealth.

. How are poultry and eggs supported?

The U.K. treats broiler production as an industry rather than
farming and limits support to a 107 tariff on non-Commonwealth
and non-Eire imports.

The system for eggs is gradually being dismantled. An m.i.p.
was introduced in 1970 along with a standard quantity. The
m.i.p. will replace the guaranteed price over the next few years
and eliminate the deficiency payment (already limited to eggs
sold to packing stations) by 1974.

An estimated producer price is established and operates in the

same way as the e.m.p. for mutton and lamb, limiting the amount

of deficiency payments granted.

. How are other crops besides cereals supported?

Potatoes Consumption has held up in recent years as a result of
more processing of potatoes. However, to prevent over-supply
of the market, there is an acreage quota imposed by the govern-
ment, through the Potato Marketing Board. The future market
prices are estimated and the estimated deficiency payment is
paid by the government to the P.M.B. Producers are also
charged an acreage payment and these two sources of funds
constitute the Market Support Fund. The P.M.B. uses this
Fdnd to intervene on the market and hold market prices to the

guaranteed level.




Sugar Beet As with potatoes, consumption of sugar in the U.K. is
virtually static. Through the Commonwealth Sugar Agreement
the U.K. buys a certain tonnage of cane sugar from Mauritius,
Fiji, Australia and the West Indies at a fixed price(see Q.17d).
The U.K. acreage of beet is controlled and only grown on
contract with the British Sugar Corporation. The guaranteed
price is based on an acreage quota and so is the deficiency pay-
ment. Whereas in England growers must pay the haulage costs
to the refinery, Scottish growers are paid a farm gate price.
In both countries, growers have to pay for the return of beet
pulp.
Fruit & Tariffs are imposed when U.K. fruit and vegetables are in
Vegetables season to keep out competition. These tariffs can
extend up to 507 in certain months. The main fruits are
apples and pears: the main vegetables, peas and carrots.
Scottish raspberries have little competition from abroad but
exporting is made difficult by overseas trade barriers, low

levels of consumption abroad and freight costs.

E. The E.E.C. System

(i) General

34. What is the E.E.C.?

Six European countries united in the desire to create first
economic and then politicgl unity in Europe (see glossary). Many
people, particularly in the U.K. and U.S.A. never expected the
Treaty of Rome which set up the E.E.C. to become more than a pious
hope. Instead the Six have made definite progress towards

economic unity.

Where does agriculture fit into the E.E.C.?

Although all the countries are industrial countries, great
difficulties arose in trying to produce a Common Agricultural
Policy (C.A.P.) for the E.E.C. There is a feeling among many in
Europe that too much time was wasted in negotiating the C.A.P.
during the 1960s and that in the 1970s agriculture must take a
back seat.
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36. Why has agriculture been such a burning issue?

Firstly, because around 207 of the population of Italy and
15Z of that of France directly depend on farming for their income.
The Six can only progress towards unity by unanimous’agreement
(albeit after compromises) because national governments still have
Sovereignty. Thus, the strength of the whole is that of the
weakest link and farming communities with more political power
than economic importance have made their wishes felt.

Secondly, because of the small size of farms in Europe, there
is the social problem associated with rural poverty. (see Q.53).

Thirdly, because wages are often linked to a cost of living
index in Europe, high food prices would tend to produce high
wages. This would distort the location of industry in favour
of countries with low food prices. Hence costs and the competi-
tiveness of industries would depend in part on the style and

level of agricultural support.

. What are the aims of the Common Agricultural Policy of the E.E.C.?
To free trade between the Six and allow farming to develop
where conditions are best.
To maintain farm incomes and eventually close the gap between
industrial and agricultural earnings (see above - Q.8).
To increase productivity, avoid surpluses, maintain 'family
farming', provide alternative jobs for rural communities and make

the E.E.C. self-sufficient in temperate foodstuffs.

. How has the E.E.Cp created a "Common Market" for food?

Firstly, by framing a long term plan that the Six countries

agreed on in 1961. Secondly, by fixing common prices